
Subject: Tobacco Haiti
Posted by fewerling on Thu, 20 Dec 2018 14:03:11 GMT
View Forum Message <> Reply to Message

Dear, 

I am trying to reproduce the % of any tobacco product use among men in Haiti (Table 18.6 in the
report).

We are using the code below, but could not match it the published estiamate (14.5%, sample size
3,831). We found a 20.7 estimate with a weighted sample size of 5,853.

gen tobaccomn=.
replace tobaccomn=0 if inrange(mv012,35,64)  
egen _tobaccomn=anymatch(mv463a mv463b mv463c mv463d mv463x), v(1 2) 			// any tobacco
type 
recode tobaccomn 0=1 if _tobaccomn==1

Could you help with this issue?

Thank you, 
Fernanda
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